(A) age =65 years

Daridorexant Placebo Odds Ratio

g5,

dy o bgroup

1.12.1 Daridorexant 50mg

Mignot 2022, study 1 42 119 38 122 27.6% 1.21[0.70, 2.06] N
zammit 2020 16 56 8 54 6.6% 2.30[0.89, 5.94] T
Subtotal (95% CI} 175 176 34.2% 1.42 [0.89, 2.25] o

Total events 58 46

Hetercgeneity: Chi? = 1.35, df = 1 (P = 0.25); I? = 26%
Test for overall effect: Z=1.47 (P = 0.14)

1.12.2 Daridorexant 25mg

Mignot 2022, study 1 39 121 38 122 291% 1.05[0.61, 1.81] -
Mignot 2022, study 2 55 121 47 120 29.2% 1.29[0.78, 2.16] N Ll
zammit 2020 10 55 8 54  7.5% 1.28 [0.46, 3.53] -
Subtotal (95% CI} 297 296 65.8%  1.18 [0.84, 1.68] »
Total events 104 93

Heterogeneity: Chi* = 0.32, df = 2 (P = 0.85); I’ = 0%
Test for overall effect: Z=0.95 (P = 0.34)

Total (95% CI) 472 472 100.0% 1.26 [0.96, 1.67]
Total events 162 139

Heterogeneity: Chiz = 2.01, df = 4 {P = 0.73); 1> = 0%

Test for overall effect: Z=1.65 (P = 0.10)

Test for subaroup differences: Chi? = 0.37. df = 1 (P = 0.55). 12 = 0%
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(B) age =64 years

Daridorexant Placebo Odds Ratio Odds Ratio
Study or Subgroup Events Total Events Total Weight M-H. Fixed, 95% CI M-H. Fixed, 95% CI
1.13.1 Daridorexant 50mg
dauvilliers 2020 21 61 18 61 B8.6% 1.25[0.58, 2.69] ]
Mignot 2022, study 1 74 189 67 187 29.7% 1.15[0.76, 1.75] I
Subtotal (95% CI} 250 248 38.3% 1.18 [0.81, 1.70]
Total events 95 85

Heterogeneity: Chi? = 0.04, df = 1 {P = 0.85); I? = 0%
Taest for overall effect: Z = 0.86 (P = 0.39)

1.13.2 Daridorexant 25 mg

dauvilliers 2020 23 60 18 60 8.1% 1.45[0.68, 3.10] N
Mignot 2022, study 1 78 189 67 187 287% 1.26 [0.83, 1.91] T
Mignot 2022, study 2 66 187 53 186 24.9% 1.37[0.88, 2.12] A
Subtotal (95% CI} 436 433 61.7% 1.33 [1.00, 1.76] ~
Total events 167 138

Heterogeneity: Chi* = 0.13, df = 2 (P = 0.94); 2= 0%
Test for overall effect: Z = 1.99 (P = 0.05)

Total (95% CI) 686 681 100.0% 1.27 [1.02, 1.59] ‘
Total events 262 223

Heterogeneity: Chi* = 0.44, df = 4 (P = 0.98); I’ = 0%

Test for overall effect: Z = 2.10 (P = 0.04)

Test for suboroup differences: Chi?2 =0.27. df =1 (P = 0.60). I?= 0%
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sFig.3 Subgroup of safety analysis (age = 65 years and age <64 years)



